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45
Circle the letter corresponding to the correct answor.

1) Select the algebraic expression that represents the verbal expression below.  Elgg(E

“2 more than 4 times the cube of a number X" =

a) 2x'+4 b) 3x° + 4
c) 4x’+2 d) 4(x+2)’

2) Solve l2x. — 3| <

a)x<5 b) —2<x<5
C) =5<w<§ d) all real numbers

3) Identify the graph of the solution set of the inequality —2.3<4+09y.

Q) <O b ) =~
-7-6-5-4-3-2-1 0 1 012345678
C ) ~———t+++++-O=t () ottt
0123456738 -4-3-2-1 0123 4

4) Which function is a linear function?

a) xy =60 b)y=x*-3x+1
c)3x—-2y—-5=0 dy* +1=x

= School Administrations, Exam Commiitees and Marking Cenlers shall lake this Into account, | lolations and take
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5) Write an equation of the line through (1, 2) with a slope of -4.

a)y=—-2x+4 b)y=—4x+6
c)y=—4x+2 d)y=—4x+9

6) Which inequality is graphed at the right? y
a)y2|x‘—3 b)y5|x|—3 “\0 NG
c)y>|xl—3 d)y<|x|—~3 :

T Let 4= > 2 8] g [ T =3 Find 3B + 2.4
et A=l 35 11 e 7 |=1g p 3| TP

9 12 -I13 3 10 -2
a) b)

2 —11 11 =7 0 5

(11 29 -34 9 31 31
c) d)

—-11 =33 31 -6 —-22 24

8) What are the dimensions of the product of A, % B, &?

a) 3x3 b) 3x6
C) 6x6 d) undefined

- It Is prohibited to photocopy or circulate the exam paper before / during and after the exam through e-mall, soclal medla or any other means; and whoever
violates this will be sul bject to the followed legal proceedings.
- School Administrations, Exam Committees and Marking Centers shall take this into account, monitor violations and take necessary measures
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9) Which system of equations is graphed? 4
/
a)2x+y=2 b)2x+ y=2 \_‘H
__Bx—)):/.]. 335—'_)/’:4 0
c)2x+y=-2 d)2x+y=-2 »/
3x—y=4 | —3x—y=4
10) Use the graph shown. Determine the values of X between = @ B
which a real zero is located. . (A
I &L
-4 [-2] |0 4x
REm.

a)between —2and—1 b)betweenOand1
c) between —1and O  d) between — 3 and - 2

11)Solvea4—4=O .

a) a=++/2,+1 b) a=+2,+i/2

) a==+2i,+/2  d) a=—+/2.2,2i,i/2
12) Simplify 3(4x—2y)—2(3x+y).

a) 18x —8y b) 6x+ 4y
c) 8&x—4y d) 6x—8y

- ItIs prohibited to photocopy or circulate the exam paper before / during and after the exam through e-mail, soclal media or any other means; and whoever
violates this will be subject to the followed legal proceedings,

- School Administrations, Exam Committees and Marking Centers shall take this into account, monitor violations and take necessary measures
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13) State the domain and range of the function graphad bolow.

-
PIRN -
7/

a) D={x|x>-3}, R={y|y>0) EERNE

b)D={x|x>—3}, _R:{y|y<0}
c)D={x|x2—3}, R={y|y=0}
d)D={x|x2——3}, R:{yl_y>0}

14) Solve (3m e 1)% =1,

aym=>5 b)ym=1
c)m=23 d)m=16

15) Which value of ¢ makes v56 — ¢ a positive integer?

a) —10 b) 66
c) —8 d) 54

= ItIs prohibited to photocopy or circulata the exam paper befora / during and after the exam through e-mall, soclal media or any other means; and whoever
violates this will be subject to the followed legal proceedings.

= School Adminlstrations, Exam Committees and Marking Centers shall taka this into account, monitor violations and take necessary measures

4
Scanned by CamScanner



Part Il

55

Show all the details when answering these questions.

16) Find the value of k so that x — 2 divides x° — kx -+ 4 with no remainder.

..................................................................................................................................................................
..................................................................................................................................................................
..................................................................................................................................................................
..................................................................................................................................................................
..................................................................................................................................................................

..............................................................................................................................................................

17) Write the piecewise-defined function shown T ] 0 | 1
o I
in the graph. BEMUS N o——
LLUN T )]
[ N\ | |
N ] L
| o \ LA
\

-1 0 6 -3
18) Find the product, if possible. 5 %

= ItIs prohiblted to photocopy or circulate the exam paper before / during and after the exam through e-mall, soclal media or any other means; and whoever
violates this will be subject to the followed legal proceedings.

+ School Administrations, Exam Commiltees and Marking Centers shall take this Into account, monitor violations and take necessary measures
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19) The system of inequalities

P NI TR
X S 4 _‘\_ \ i_ 6 | 'ZL
J,zx - i i ; . = lf.
is graphed on the side. - [\ |
: —8—6—4—20 6 8X
a) What are the coordinates of the vertices of the feasible ¥ | N I
region? | ;_':2 __|: \H'

b) Find the maximum and minimum values of the function f (x, y) =3x— 2y

for this region.

20)Find (4a” +2a” —4a—80)+(a+2).

= It is prohibited to photocopy or circulate the exam paper before / during and alter the exam through e-mail, soclal medla or any other means; and whoever
violates this will be subject to the followed legal proceedings.

= School Administrations, Exam Committees and Marking Centers shall take this into t, itor violations and take Y

H 1 M

AUH000520E1 ATT1

6

a2
P 6579

105 [=]7

GEN
Scanned by CamScanner



( End of Term 1 Exam — Mathematics — Grade 11 General — Academic Year 2018/2019 ]

21)A boardwalk that is X meters wide is built around a rectangular pond. The pond
is 30 m wide and 40 m long. The combined area of the pond and the
boardwalk is 2000 m?. What is the width of the boardwalk?

22) Determine whether the pair of functions are inverse functions. Explain your

reasoning. x+ 10
fx)= , g(x)=8x-10
1
2
23) Simplify the expression. h? +1
h? -1
End of Exam
Good Luck

= Itis prohibited to photocopy or circulate the exam paper before / during and after the exam through e-mall, social medla or any other means; and whoever
violates this will be subject to the followed legal proceedings.
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